S.R.D.A.V PUBLIC SCHOOL SAHARANPUR(2020-21)

ASSIGNMENT CLASS Xl SCIENCE

PHYSICS

Physics Home Assignment Class XII:

Do the following question in separate note book.
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10.
11.

12.

13.

14.

15.

16.

17.

18.

19.

Why two electric field lines can not intersect each other ?

Define the term conductivity of a metallic wire. Write its Sl unit.

What do you mean by conservative nature of the electric force?

Define one coulomb of electric charge.

Why do the electric field lines not form any closed loop ?

Draw electric field lines for a system of two charges q; and g, such that (a) q;9.>0 , g9:>q, >0
(b) 9:92<0 , [q1]>|—qa|

When does an electric dipole placed in a non-uniform electric field experience a zero torque but
non-zero force ?

What is the nature of force acting between two point charges q; and g, such that (a). q:q,>0
(b). @102<0

Two point charges +q and —q are placed at a distance d apart. What are the points at which the
resultant electric field is parallel to the line joining the two charges ?

Eaxial

What is the value of for a short electric dipole ?

equitorial
Does the charge given to a metallic sphere depend on whether it is hollow or solid ? give reason
for your answer.

Two charges of magnitude —2Q and +Q are located at points (a, 0) and (4a,0) respectively. What
is the electric flux due to these charges through a sphere of radius 3a with its centre at the
origin ?

Name the physical quantity whose Sl unit is V m. Is it a vector or a scalar quantity ?

Plot a graph showing the variation of resistance of a conducting wire as a function of its radius,
keeping the length of the wire and its temperature as constant.

V-l graph for a metallic wire at two different temperatures T;and T, is as shown in the

figure. Which of the two temperatures is higher and why ?

Why does the electric field inside a dielectric decreases whe it is placed in an external electric
field ?

A hollow metal sphere of radius 5 cm is charged such that the potential on its surface is 10 V.
What is the potential at the centre of the sphere ?

Define dielectric strength of a medium. What is its value for

vacuum ? o
A point charge Q is placed at point O as shown in the figure. Is N
the potential difference V, — Vg positive , negative or zero, if Q v -

is (a). positive (b). negative ?

Q



20.
21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.
35.
36.
37.
38.
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What is the geometrical shape of equipotential surfaces due to a single isolated charge ?

Two similar wires of same length and same area of cross —section but different material , having
resistivity p;and p, are connected end to end ( in series) . calculate the effective resistivity of
their combination.

Two similar wires of same length and same area of cross —section but different material , having
resistivity p;and p, are connected side by side ( in parallel) . calculate the effective resistivity of
their combination.

Two wires of equal length, one of copper and the other of manganin have the same resistance.
Which wire is thicker ?

Distinguish between the emf and the potential difference across a cell.

Five identical cells, each of emf E and internal resistnce r, are connected in series to form (a) an
open (b) a closed circuit. If an ideal voltmeter is connected across three cells, what will be its
reading ?

Plot a graph showing the variation of current density (j) verses the electric field (E) for two
conductors of different materials. What information from this plot regarding the properties of
the conducting material, can be obtained which can be used to select suitable materials for use
in making (a) standard resistance and (b) connecting wires in electric circuits ?

Two heating elements of resistancs R; and R, when operated at a constant supply of voltage V
consume powers P, and P, respectively. Deduce the expressions for the power of their
combination when they are, in turn, connected in (a) series and (b) parallel across the same
voltage supply.

Two metallic wires , P, and P, of the same material and same length but different cross-
sectional areas, A; and A, are joined together and connected to a source of emf. Find the ratio
of the drift velocities of free electrons in the two wires when they are connected (a) in series,
and (b) in parrellel.

The current flowing through a conductor is 2 mA at 50 V and 3mA at 60 V. is it an ohmic or non-
ohmic conductor ? Give reason.

Current flowing through a wire varies with time t in second as | = ( 2t + 4) A. how much charge
passes through a cross- section of wirein2 s ?

Four identical cells, each of emf 2V, are joined in parallel providing supply of current to
external circuit consisting of two 15 ohm resistors joined in parallel. The terminal voltage of the
cells as read by ideal voltmeter is 1.6 V. calculate the internal resistance of each cell.

A wire whose cross sectional area is increasing linearly from its one end to the other, is
connected across a battery of V volts. Which of the following quantities remain constant in the
wire ? (a). drift speed (b). current density (c). electric current (d). electric field . justify your
answer.

An emf of a cell is 1.5 V and its internal resistance is 1 ohm. For what current drawn from the
cell will its terminal potential difference be half of its emf ?

Why is the potentiometer preferred to a voltmeter for measuring emf of a cell ?

Why copper is not used for making potentiometer wires ?

Why we use constantan wire for making resistance coil ?

Why should electrostatic field be zero inside a conductor ?

State the condition for maximum current to be drawn from a cell.



HOLIDAYS ASSIGNMENT(CLASS XI1)
SUBJECT —CHEMISTRY

Q1:-Which aqueous solution has higher concentration — 1 molar or 1 molal solution of the same solute?
Give reason.

Q2:- Why a person suffering from high blood pressure is advised to take minimum quantity of common
salt?

Q3:- At higher altitudes , people suffer from a disease called anoxia . in this disease , they become weak
& cannot think clearly. Give reason.

Q4:-2 gm of benzoic acid dissolved in 25 gm of benzene shows a depression in F.P. equal to 1.62K. Molal
depression constant for benzene is 4.9 K Kg/mol. What is the % association of acid if it forms dimer in
solution? Ans:-99.2 %

Q5:- A solution containing 15gm urea (molar mass =60g/mol) per litre of solution in water is isotonic
with a solution of glucose present in one litre of its solution . Ans:- 45g

Q6:- Write the cell reaction of (i) lead storage battery (ii) Fuel cell.

Q7:- Explain how rusting of iron is envisaged up of an electrochemical cell.
A8:-Calculate the equilibrium constant for the reaction:

Cd**aq) + Zn(s) - Cd(s) + Zn**(aq)

If Standard red. Potential of Cd & Zn are —0.403 V & —0.763 V. Ans:-1.58 X10*

Q9:-conductivity of 0.00241 M acetic acid solution is 7.896 X 10 > S/cm. Calculate its molar conductivity
in this solution . if Am® for acetic acid is 390.5 Scm?/mol, what would be its dissociation constant? (
Ans:- 1.86 X10 ™)

Q10:- Avoltaic cell is set up at 25 °C with the following half cells:

Al/AI3+(0.001M) & Ni/Ni2+(0.50M).

Calculate the cell voltage ( given If Standard red. Potential of Ni & Alare—0.25V & —1.66V)
Ans:-1.46 V

Q11:- Find an expression for rate constant for Ist order reaction . Plot graph between log [R] & t. Give
its slope also.

Q12:- Define the following :

Elementary reaction

rate of reaction

rate constant

Activation energy

Pseudo first order reaction

vk wnN e

Q13:-The rate constant of a Ist order reaction increases 2 x10-2 to 4 x 10-2 when the temp. changes
from 300K to 310K.Calculate the energy of activation.(log2= 0.3010). (Ans:- 53.59kj/mol)

Q14:- Show that in a first order reaction , time required for completion 99.9% is 10 times that of half life
of the reaction.

Note :- Do all question of NCERT text book

Activity:- 1. Collect 3 different soaps 10 gm each. Dissolve in 50 gm water in separate container & put
them for 10 minutes to form foams. Find the soap which has better forming capacity.

2. Make a list of polymers which are used in everyday life.
Note :- for these activities u can take help of internet.



Class- Xll

Subject- Biology

Prepare investigatory project on topic of your choice.

Kindly ensure that it is included in CBSE biology curriculum.



CLASS XII
MATHS

Relations and Functions

MULTIPLE CHOICE QUESTIONS ' ()| ={e .

' choase the correct answer from the given four options in each of the

fallowing questions from 1 to 35 :

1. Let R be the relation in the setr {1, 2, 3, 4) given by R = ((1, 2),
(2, 2), (1, 1), (4, 4), (1, 3), (3, 3),(3, 2)}. Choose the correct
answer
(a) R is reflexive and symmetric but not transitive
(b) R is reflexive and transitive but not symmetric
(¢) R is transitive and symmetric but not reflexive
(d) R is an equivalence relation

2. I R be the relation in the set N given by R = {(u, b) :a = b - 2,

b > 6}, then
(32,49 eR (@B B8R @©GBHeR DBk
3. IfR be the relation in the set {1, 2, 3} given by R = {(1,2), (2, 11},

her symmetric nor transitive

(b) R is symmetric but neither reflexive nor transitive
(¢) R is transitive but neither syminel ric nor reflexive

s : ce relation
(d) R is an equivalen consider the relation R = {(1, 1), (2, 2),

4 Let A = {1, 2, 3} and :
(3,3), (1, 2), (2, 3), (1, D), then RS
(a) reflexive but not symmetric
(b) reflexive but not transitive
(¢) symmetric and transitive
(d) neither symmetric nor transitive

5. Letf: R — R be defined by

{a) R is reflexive but neit

2x, x»4
flx)=1x", 1<xsd
qx, x|
= v f (4) is
'(l;l';egf( 1) +f(2(%))' {1( ) (c) 5 (<1) none of these
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Inverse Tﬂgonometric Functions

MULTIPLE CHOICE QUESTIONS {5y
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% | 1 }. 1|( 3 \l‘
15, The value of sin (m) sn ,J;b’;
: ol
(a) 2 (b 3 (c) 3 (d) Ao of s,
16. The number of solutinns of the equations m"?.\uun"g,,i
‘M
(W2 (b)3 ()4 (&) noneofip,,

17. 1 A= tan” ‘ﬁx}andhun l—T—-‘ thenA- g

w3 0 2 © (d) fone of e
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{a) 40" (h) 607 () 90° (d) none nf these

]
19, The value of tan” [E)oua (- “tan {;J antl 2

3 OF @7 @ ofthe
20, cos”! ]ﬁﬁ—gikmww
Nl4x
(a) tan” (b)%uu"x (tan'x®  (d) noneofthest
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(a)% (b) .2_3 (c)-sgz- (d) none of thes
22, The value of tan” (mn?}(
() g (b .Tn (© 3:_' (d) none of the

5 rverse Trigonometric Functions

23, The value of cos"(m%)is

[a)%"'- CF (c)’-:
[ 33z
24, The valueof sin [ [-S—)]
b d -2 ._E
(a) m (b) o (¢) 3

25. The vallue of mn[cos" g s ::.) &

(.ullf " '—‘-’ (c)3
26, ‘I'lmalucofnn (scc I)mu {eose ") s
mn (b 13 (c)23
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-
(2 .1-6 (h) Ta (") 5
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(€) 2'3

2 -
prved b) —
(a) 3 ()

29. 'The value of ms(sm ;oaln w]h

30 13
(a) % (b) T (t) 65
30, mcmlucolun-; cos"-?]ls

(3 23-46)

m?m&

() none of these

(1) wone of these

(d) none of these

() none of these

(d) o of these

() note of these

(dl) none of these

mgm&

(d) none of these
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|

u 1 -7 amofsm s
(a) 7 (b)ﬁ (C)? (d)uongofmts A, "'ﬂi? p i _600%), then valug 0f X e

31, The value ofmn[ztan" -;-%] s

32, The principal value branch of cosec! x s ot ma fllowing questions b 07 3
Ly D
m(z‘z] ) (b)[" ] 45, ot 3 #0037 =0 g

o , A2,
(¢} [0, %) {2) (d) none of these mn ,,m.,uharm’[zcos(m 2]} ¢

33. mmndmvalm bmnd! 0{&[ x“ 3 124
(@) (0,%) ) (0 ) (] [__ ‘] () none of thes 48, prove that 2sin” gllﬂﬂ 7’

34, The principal value branch of sse”!x 49, Prove thattan” Lyacot™ (re1)=tan’ (A: +xt1).
@ [;;](o) w0 :1-{12‘] 60 o it s costan™ )] = +;
(¢) [-%.% (d) none of these % Provcdmtan[ - ;]=4 3f
Fill In the blanks in each of the following questions from 35 to 45 :
35, ‘The solution of cos [sin”? (cos™ x)]z-;-is_. 52, Prove that %-% m"; Z '%‘f.i..

36. The solution of un'l(x+2)+un"(2-x)=m"(i]is 83, Prove that sin(tan™ V3 + cot™ {3) = 1.

M, Brovethat 2™ >+ ) 2 = %,
3 7 4

7. Thesolutionofsin(sinllwoslx] [) | PN
5 35, Prove that 4(°°(.13*C092¢.l\/§)-x,

4 1
38, The solution of ¢0s (sin ’x)=-!s—- 6. Prove thay “[E-m'l 3)=7
4 '
in (1§ Je— |
W Teesmiaiet & stos s | 3T e that tay 2 4 ) 2 w3,
40, Thesaoluion ofshico” -+ 1)) =costan™ 5) s —— Q a 4
4, Thcvalueomn"[lan%)k s g Y-i + then prove cos™ x + cos™ y u X,
ity Showthat the domain of the function y = cos™ g\«- -4) 2
‘. (e l——— 8
42, 'he value of cos™ [ms6]s ‘["E--\fé]u(f 5],
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60.
61.
62.

63,
64,

65.

66,

67,

LB 26 L6 4@ 50 6 11 J
70 8@ %@ 0. L@ 12 N ""[“" i
B.® 146 150 160 1.0 180
9.0 20.(5) 2Lf) 220) 2.() 240

i
l

VATSAL MCQs In Mathematics for Class v (e uerse Trigonometric Functions 15
Show that the domain of the functiony:sin" (=2%) fs -1 ")] o 1)'“’64[-1]
Prove that cos”™ (=x) == cos”™ 5, ¥ € [+, 1], ' g B Fmdghcvaltlco(s»n [-2 3
Prove that cot™ () =t -cot™ 5, € R | 12010, 11 Campt. type]
] ol & o 4n
prove s s oo = £ vx e 1), —— (""5) 12010)
Bl . 1 : s oA 1.
Prove that se¢™ x 4 covec x-2 YxeR-[-1,1]. " FindlMVi'””f"“['j'sm (-EH [2011)
I <1 then prove 2tan~ x « tan™ —=. . (1. -’(_1]. (2012]
: N L 7, Fiod the value of €% (5 Sl b
-1 -l (2012
Prove that 3tan”™ & « m-l[Sr x:] Iy [ ] 3[.] 8. Fmd[mvalueoftan (43) - sec (f].
1-3 3 1 2] [2013)
. ; . d the value of tan”" (1) + cos ( J
Prove that 2 cos™ x w cos™ (262 1), 0 s x 51, 9, Hoa 2
ANSWERS 10, ind the value of lan'l\@-m('l (V3. 2018)

1, then find the value ofx, [2014]

12, ifan” x4 an” y =E.X)‘ < 1, then write the value of x +) + 1.

5.(h) 26.() 2. 2B.(a) 29.(c) 30.(1) 2014
f A 3 !
B RO B Ko B2 1+ poyet 3o o G - 421, ”['E'EJ' (2018)
- 1 f4\r 2 4.8 1
IR 37‘3 3. 39, No solution 14, Prove that 3 cos™ xw cos (4x" =3x)xe| =1
= X X [2018 Compt.
0= 4a4.X wnl o — A U, [ ] s-
2 8 b 15, Find the value of tan™ 3 - sec”'(-2). [2018 Campt.)
AUIEST ANSWERS
PREVIOUS YEARS CBSE (XII) ;,gug.smrgg S "
2 n e 23 32 4l 52 81 7=
1. Findthevaluco!wf](m?')tsin"(sin?] 12008, 1 3 6 ) 5 )
"3951'101 i1 o121 183
af . 3 \ b :
2, Find the value of sin '[sm—;]- Rmi : 2 5 3
| |8] |

- 7
3. Find the value of cot™ [cos -65)

12009, 11




immm
6 IfA lssqwcmt(r:): ;uc::ham
e ric a0
(he matrix A is both symimet
’ glnkadlﬂzona'mn we (@A
(c)A 5 a square matrix

() !

Choase the correct answer from the given four optwm in each ﬂlh
following questions from 1 to 47 :

1,

I Aand B are symmertric matrices of same order, then AB - a,\,,
(a) shew-symmetric matrlx {b) symmetric matrix
(d) identity matrix

(¢€) zero matrix

cosn - sine

fA= [u B]lssud!d\nm =, then

! @x=2y=43"3
; () x=2,y= 3,5=4
\

o |

=, then (1 +A)" - TA s equal to

(d) 3A

d ske\vqmmclrlc then

200 matnix

(d) none of these

8.
a) 142, 2ipy=0 by 1- a*ﬂv-
1-a*-Pr=0 (1 +a’-Pr=0
® x+y+z| |9
gmvalnaofxymdsfmmthcequmiom x+z |=[5]are
' y+s 7

) x=4y=25=3
(d) none of these

2 0iA= A
[Smd MG]lMA+A -'. “lhtmhxo'uh 10. “Icvn'mdk 2 non- mm]m»’ 5
Wwe O3 (@32 (= 1 2 3]”‘[1 0 2] [4 4 ]}ls
3. Matrices A and A will be inverses of each other only if 42 345 (42014
() AB = BiA (b)AB=BA=0 0 (d) none of these
(c)AB =0, BA=] (d)AB=BA=1 (@)1 g (b) 2 (©
12 0]f0 u.u.«s[] 2].mmA‘-sAo7ns
4, Forwhatvalucof x:(1 2 1]{2 0 1][2]=0? 3
10 2fx | @0 )1 {e)A (d) nonc of these
12, 17 A and B are square matrices of same order and B is @
(2)=1 (b)0 (c)2 {d) none of et skew-symmetric matrix then A'BA is 2
02 = ' (a) skew-symmerric matrix (b) symmetric matrix
5. The values of 2 il the marrix A » | x y -¢| whichstih  (¢) zaro matrix (d) idantity matrix
X -y % B8 waa| ¥ ¥, i matri
the equation AA' « | [zx-a rsl is  symmetric matrix, then x is
1 | 1 (0)5 (b)3
@Wx=37=,y=3=,1= ()4 (d) none of these
\_E g ’Tg ' :75 i 5 x ~
blredyelenl  Wthe matix A=(4 -2 -3 is o singular matrix, then value
I A 72 2
~] -1 -1 of ¥
(xz—,y=—=2m
3 w E (ﬂ)‘\':;u (b)'\,-_lz 12
(d) None of the above 29 29 ©@x=35  (d)noneofthese

e
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VATSAL MCQs In Mathematics fo-

sin
15, Given that A « [cosx ]nndA(adml k[ J

valne of k

(1 (b)2 ()0 (d) Mo o |
16.  For any two matrices A and B, we have B

(I)M=M (b)AB:BA [C)AB=0 (d)mﬂl'o{h

17. 1A and B are square matrices of the same order, ey 0,
(A~ B is equal to A

WA -8 (b)A -BA-Ap.
(€A -B*+BA-AB (A - B4+ B 4 ag
23
2 =13
18, liA= =4 <2 th
[_4 ; 1}amﬂi 4 <)) ten
15
(a) only AB is defined {b) only BA is defined
() AB and BA both are defined  (d) AB and B4 both are defiay
005
19. The mamlx A={0 5 0llss
500
(a) scalar matrix (b) diagonal matrix

(€) unit matrix (d) square matrix .
20, 1 A and B are symmetric matrices of the same order tben
AF-BA'is4

|
(a) skew-symmerric matrix ~ (b) symmetric matrix :
(¢) zero matrix (d) identity matrix '
21, Construt Ay st where g =|- 4 ]

1 -] Ofw
T o g g e

22. Find values of a and b if A « B, where ’

A'[ad 3”],3- u+2 42 |
g -6 § -3
(0 a=2andb=2 (b)a=-2andb=2

()o=-2andb=-2 (d) none of these

€ .
hSSXn‘ S( s

19

o srsty (o

(b)xs~landys2

=1 Dﬂdy-
(a)x (d) none of these

()x=1andy=-2 |
dmaﬂioesﬁ: o and B = b9 s
24, Thesum 45 -4 -5 0

000
Do
" ] 0 [0 4
(¢) ot passible () none of these

25, Total number of possible matrices of order 3 x 3 with each entry 2

?3109 (b) 27 (¢) 81 (d) 512
26, lfAmdﬂaretwnmamoesollheordch xmand 3 xn, respectively,

and 1 = n, then the order of matri (54 - 25) s
(a) et x 3 (b)3x3 ()mxn {d)3xn

27, 1fA fs matrixof order m x n and B is & matrix such that A8 and BA'
are defined, then order of matrix B is
@mxm  (Mnxn (nxm  (dmxn

2, lfmamxA (ayly g where &= Lif i#] and ay=01{=fthen
s equal to !
(@) £ (unit matrix) (b) A
€0 (d) none of these

29, On using elementary operatians Ry - Ry - 3R in the following

umm42-1220m1h1w
Q13 3" 0 3/[1 1]

o S el
N HEH

3011 4

S x
= [y OJ and A is symmetric matrix then

(n)x-y (byx=0 ()y=0 () x=y



20

3L

32

34,

35,

36,

T

VATSAL MCQs in Mathematics fipy. Clags x"[

The sum of fwo skew matrices is
(a) symmetric matrix (b) null matriy
(¢) skew-symmetrie marix  (d) diagonal magyy
If A is symmetric matrix then A" is
() symmetric matrix (b) null matrix
(c) skew-symmerric matrix  (d) diagonal marris
. 1fA is any square marix then both AA' and A'4 ape
() symmerric matrix (%) null mai
(c) skew-symmerric matrix — (d) diagonal marriy
oo
fA=(0 2 0|, thend®is
00 2
()54 : (b) 104 (©) 164 @
2 01
fA=(2 13 'MAZ“
1-10
[4 ' 1] [5 1 2]
@419 Mo 2 s
11 0] 0 1 2
51 2 [5 -1 2]
iy 2 8 @lo 2
81 2 [0 -1 2

IFAis 2 square matrix such that A° = 1, then A”" is
@A+] (b)A ©0 (d) 24

I A and B are invertible matrices, which of the following &
Incorreen?

(e) A = |44~

(b) det (A7) = (det )
CI7RY R R

() (48)™" =57'4""

38, lfAmdBaremomnimmhthatAB Aand BA<5, en s

aqual 1o
() A (b) B
39, ‘:;h)e:pu:;cfa Symmetric matrix is 3
mmetric matriy '
() skew-symmpsric matrix e

(d) diagonal matrix

Matrices

40.

41,

0 7-5
42, Themamix A=|7 011|%

43,

45,

u |

108

IfA = [1: ?]md8=312
001

(a) only AB is defined () only BA is defined
(c) both BA and AB are defined  (d) both BA and AB are not defined
tan” () cos™ (5-) ~cat l(zr) cos” ( x J
If A--’- 2n ' an
; sin"[-"-] sin”ax)
2n
thenA-Bis
(a)!

then

B=

Sllh-

sin™ (%] -c0s™ (=)

)0 O (@) %1

5-11 0
(a) symmetric matrix (b) null marrix

(c) skew symmetric matrix {d) diagonal matrix
1f A and B are square matrices of the dame order then (A + B)

(A-B) s
(b)A’ AB - B

[a]A2 B‘1
(©) A%+ BA-AB- B (d) 4° mw’w

. Use elementary column operation C; — C; + 2€; in the following

w1 1}
ofz 3 o1 3] @ o3 o] ]

L el

Choose the sealar matrix from the followmg options

bodol)

(a)A-H by [0 0 0]
0




| 2 VATSAL MCQs in Mathematics f"'Class iy
12 2
8. 1 A % 21 -2| stisfes A'Aw Ithen . y i
2% 1y
(a)3 (b)0 (c) -3 ()1
47, 1fA= [y} is square matrix of order 3 # 3 such thar R
s Ty
() symmetric matrix (b) null matrix
(€) skew-symmetric marry ~~ (d) diagonal marrix
v Following questions from 48 to 54 are to be
requirement of the quastion : I o
X t
|
8. 1A« 2| thearis |
3-
" [ 50 sin)
49. If M (0) - st cos[)].."lmv that Mix)M(y) =Mlx+y),

Fllin!hobhnkshuum

50. Show thatA +A'isa skew-symmetric matrix if A » [3 4]'
51

:; Construct Ay,  matrix where i |20+ 3j).
; :‘f:-néa 1B (73] then fin a non-zero matrix € such

53, Axdiag[3 -2 1]and A =diagl1 3 =2), find 24 - 38,
0a 3

54, 1f the matrix |2 3 i5 3 skew marris, find the values ¢
¢l 0

a,band e

55, the following questionsfrom 55 to 65
e, MALFX I both Symmetric and *cw.symme"ic mﬂﬂll'

“' UAMBM »
Symmetric matrices of hea AY
lynlmenieifando:nyu ) b Of same ordes ¢

:;- lfA issymmeis matris, then A% i maurix.
59: mmmx‘whch 15 001 square matrix js called g ___— m:ﬂ‘
wﬂly mnyg r::e o MOre Tow operations while finding X
then 4™ OPeTations, we obuin al geros in one Of ™

R

ntrices n
60. Matrix muliplicationis _____,
61, Matrix addition is and .
62, For addition of two matrices the same.
63. Sum of wo symmetric matrices Is always a matrix.
64. IFA Is shew-symmetric, then kA (where k is a scalar),
65, Transpose of a column matrix s a Matrix,
ANSWERS
Ly 20 3@ 4@ S5 6. ()
7.(b) 8.(c) 9. 10.(b) IL(®) 12(n)
130 WGeE 150 16d 17,0 18
19.¢) 206 2L 2@ 2@ 24
25.(d)  26.(d) 27.(d) 2B.(2) 29.(a) 30, (a)
M R @ M@ (D 36
(0 3B 39 40.() 4L 42 (c)
4.() 4. 45.() 46 AT
¥ 7.8 14
B.A=(2456 51-[ ]
«] 2
369

kllk k
52, :
[2)(]'{2* 2*] ete,, where k is o real number

53.diogl3 -13 8]  Sda=-2b=0,ce-

55, Null matrix 56. AB = fA 57, Synumetric matrix
58. Rectangular matrlx 59. Does notexist 60, Assaciative

61. Commutative and associative 62, Order has to be
63, Symmetric matrix 64, Skew-symmetrle matelx

65. Row matrix

PREVIOUS YEARS CBSE (XII) Lo 18/ A[0])'5S

1. Construct & 2 x 2 matrix A = [ay), whose clements are given by
12007)

13 [y 0] [56
2. ﬁudd\evaluesofxandylfz[o x]+[l Z]-[l 8].12008’
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VATSAL MCQs in Mathematics for Class XII (C
3. WmaixA=[1 2 3], writt AY, where A'ls the transpose of

i
4, Findthlueof:r,if'2’,_x 3‘1-:_5 3

wso -snn

ne|
sinu cosu

, then for what value of lsAanldenn,,\
matrix? !2010]

[1 23 1) (71 ,
6 If 3 4] 25"k u}.mm«wm&noﬂ.
[2010, 12}

Matrices

) a+h 2) (6§
2 "[s b]=[2 ZJ.tbcnﬁndc. (2010 Conpt. Tyl

8. IfAis a mateix of order 3 « 4 and B is 2 matrix of order 4 x 3, find
the order of matrix (AR), (201

ey 3y (66
9, -
If[ 0 4] 0 4 12010 Compt,

10, If a matrix has 5 elements, write all possible otders it can have,
(201

] , then find x,

11, Find the value of x + y from the following equation ¢

1 .
Zx 5 ‘3-4: 7 6l
7 y-3) |1 2] sl
a-b ¢ [-IS
u-b x+df |0 13) s

12012

12. Find the values of ‘o' f [

01 -z}
13. For what value of x, Is the matrix, A=/=1 0 3 a thew
X -3 OJ

symmetric matrix? (2013

1 -1
14, If matrix A a[_] l] andAzab\. then write the value o k.
{20131

(2014

34 (L yl (70
15, lrz[s XHO IJ'[IO s}. find (x - y).

i

10
16, Solve the matrix equation for v, [¥ l]{_,, OJ'O- [014)

17, 16 A i 8 square matek such that A° = A, then write the value of
7= (- A, where s an identity matrix, 2014]
Write the element az ofa 3 v 3 matrix A = (d) whose elements ¢

-1 12015

"

18,

are given by a =

Use elementary colutn opetation Cy - Cy + 26 in the following
marrix equation :

21 (3110
[2 on oJl-l 1]
twrite the murmber of all possible marrices of oder 2 x 2 with each
emry |, 2or3, [2016]
00 -3
21, [fmatrix A :{2 0 -l]iss&ew-s)melric. fint the values of o'
b1o0

19,

[2016]

2°A

and'b’ (2018]

Find the values of x and v from the following matrix equation :
Sfr § 2 3 -Il_ 7 6]

'[7 y-3 [1 2 [IS 4] 2017 Compl.]

Q2

12 2

DA« 21 x‘ is a matrix satisfylng AA' = 91, find x.

22 -

12018 Conypt,|

If A and B are symmetric mateices, such that AB and BA are both
defined, then prove that AB ~ BA s a skew-symmetric matrix,
120191

24,

' 2 3]
2, Rnlhtlum!ﬁ'[s 7|- find (4« A") and verify that it is

Symimetric matri, 12019)

26, A Is  square matrix with |A| = 4, Then find the value of
(A« (adj A}, [2019)
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27, Porwhat valueofxis (1 2 1]]2 0 1{|2|~07

2 9
Yo 8

5.0'0'
9,x=2
12.a=1

16,x=2

VATSAL MCQs in Mathematics for Class XIl (Chsg

1

1

ANSWERS

] 2x=3y=3 31 4 4.x=1

6. k=17
10,5% Land 1 x5
13.x#2

17.-

a6l

22,x=2,¥%9
26, 160r 64

23.x=~3

27.xw-1

| o] |

—7

2 0}|0

0 2| x {2019C0mp¢'

T.a=4 8.3x3
ILx+y=11
14,k=2 1510

1
18, -
2

20.81  2l,a=-2andbw=

.y ]

Determinants

v

MULTIPLE CHOICE QUESTIONS H{)//(®(013}

Choose the correct answer from the given four options in each of the
following questions from 1 to 47 :

0 ¥-0 x-b
t+a 0 x-¢

L If flx) =  then

r+b x+¢c O

@fl}=0  ®)B)=0 (0«0 (DRD=0

20 -3
2.1 A=0 2 5[, thenA exists if
113

{a)h=2 (b) 122 (@ A#=2  (d)noneof these
3 x| [3 2
3. The values ofxfotwhichL ‘

1l |4 1
(@ x=322 () xu-2/2 () x=2/2 (d)noneofthese

0 Oy Oy
4 Ifa=|ay Gp Oy
3 Ox Oy
Alsglven by
() ayCay t oyl + g3ty () g Gy + gl +255Cy
(c) az €y +09aCha +aggCyy  (d) 2y Cyy + ey Oy + oy Cyy
a b c
e+2r be2y co2is
X y 3
(@0 (b) vz (c) abe (d) nane of these
6. A square masrix is invertible if and only if Afs a
(a) null matrix (b) singular matrix
(c) non-singular (d) none of these

mc,jiswlacmolng.thmdmalueof

5, Value of




VATSAL MCQs in Mathematics for Clag (g p r”,,,mr:ms

124

uA=5 7 8

find the co-factors of clements o 7 nd
9 10 12

o -2dand-3 @2ad=3 (©-24and3 (d)pgpe

jo matrix of order 3 and |A| =5 thp i they

8. IfAisan imib d
lue of [ad)
02 0I5 @ noneopy
g, 1 be square matrixaf order 3, then the value of 24 Where a‘
=4,
(2) 64 (b) 32 (c) 16 () none ofy,
10, faissquarematcxoforde 3 such that [adj A| = 64, they AI“‘
(a) 78 (b) -8 ©8 (d) none of
11, 1fAand B are non-singular matrices of same order, then Ay and iy

arealso
(a) null matrices (b) singular matrices
(¢) non-singular matrices (d) none of these

0 cosx siny
cosx sinx 0
sihy 0 cosx

12, If cos 2¢=0, then Is equal to

(a)% (b) sinx (c) cos.x (d) none of they

1 -2 5§
2 x -l
0 4 2

13, There are two values of x which makes, « 86, the

sum of these vakues is
()4 (b) 5 (€) -4

1 1 1
14, The maximum vale of | 1 1+siny 1 s (x isa red

14cosx 1 1

(¢

number)
1
s a2 ©p (@ nomeoltes
3 P
15, Letabe

SAuare matrx of order 3 x 3, then | kA| is equal 10
WHAL 2y @] (@RI

]
nx cony sy

CO8X sinx oo =0 Ingh
g
LS X cosy sin y

g6, The number of distinct roorg of

-n
intcrval';;ﬂsgis
(s) one OYwo — (q)teg
g7, IfA s an invertible matrix of order 3, he it M.‘:)knonct:f these
Wt O i
du(py 91 (d)0
fa, b, ¢ are non- s
18, Ifa g wlvtn'(:alnumbcrs,lhenthemvemofmamx
A=[0 b O Is
00¢
0-1 0 0 'a o 0
@fo &1 o (b) llo b o]
abe
0 o ¢! 00¢
. 100
(© = 010 (d) none of these
001
1 sind 1
19. let Aw|=sin® 1 sin|,where0<9 <2 Then
-1 =sin® 1
(a) det (4) =0 (b) det (A) € (2, =)
() det (A) e (2,4) (d) det (A) e [2,4)

X+2 x43 x+a
x+3 x+4 x+b
x+4 x+5 x+c

(@0 ()1 OF (d) 2

21, Let A be square matrix of order 3 x 3, |A| #0and [kA| =k|A] then
kls
@0

20, 1fg, b, ¢ are in AR then determinant s

(b) 3 ()9 () 27



22,

23,

24,

25,

26.

p B -6 2
indxif A=|-6 7 4 i5 8 singular matrix
-4 x
(a) 5
a) (b)3 (©)9 a2
wsx siny 0
Findxif A = |sinx ensx 0 i$ a singular matrix
0 0 1
(a) 2 : '
: OF ©3 O

Find 7, if the system of
! equations 3x - 2y + 2 =0, Ax -
=0, % + 2y = 3z = 0 has non-zero solutioﬁ o

(a)7.=5 Mrs0  ()hz5  (d)k=0
11 1

The value of determinant I 1+ x 1 | Isequalo
1 1 1+y

() M)y @y @

The system ofcquationsn'z,w3:=7,Z\’~y-5:- 13«
-xay-z=11 « 0 can be writen as

el 1 2 3] [7]
@yl 2 -1 -5|=|B

z -1 ]-1‘ ‘“_

[1 2 3 x] [7]
IRt

L—l 1 'l. ” »ll.

W (12 37
©y[=| 2 1 5|

o [ 1 -l

)2 3 7
@) 21 5=lx? 3|13

e I

Determinonts i
27, IfAand Bare pon-singular square MArices of the same order then
adj(AB) s
(a) AB (b) B
(¢) (adj A)ad B) (d) (ad) B)adi A)
28, I(A%-A+ 1= 0then the inverse of Als
@A+! (by1=A () A-1 @+
koo
29, I A=|0 k 0}. then value of [adf A| B
[o 0k
(o 7 Bk (@8 (d) none of these
30, 11 is square matrix of order 3 such that || = 3 then the vilue of
o (o )]
(@9 (b) B ()6 (d)27
31, 114 is square matrix of order 3 such that |A] » 2, then the value of
adj (odj A)
(a) 24 (b) 34 (A (d) none of these

32, 1f A s square matrix of order 3 such that ady (24) = k (adj A), then

the value of k i
()2 (b ! () I {unle matrix) (d) 0

33, 1t A, B, Cae invortible matrices, of the same order then ey is
@ mae s @1
34, IFA s invertible square matrix then odf (A") is

@A (b)A (© (odiA)’ (d) noneof these
4-x 44x 4o
35 1 [4+x 4-x 4+x]»0,thenthevaleofxls

44x 4oy 4-X

(@) Oand=12 (b)Dand 12

49 x X
¥ x+9 X |isequalto

(¢) 12 and =12 (d) none of these

36
| S W

(a) 243 % (b) 243 (x +9) (c) 243 (x = 9) (d) none of these
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l:::r2 111

0 aell y £ b & ) tend-d el

| g2 8
Mo O ©1 (moecoltiy
A ¥ 1 ABC

WA=y 18 =|x v o] thend-yisequilto

ad) WEY
(a) e Bxayex (90

(a+1){a+2) (a4 1
39, [0+ 2)a+3) (@+3) 1= ——.

a+o+4) (a+4) !

(a)2 (b 52 (¢)-2 (d) none of
Y4y y+r 44X
40, Wriethevalueof A=) 2 X ¥ |\
e B
(a0 (b) xy (c)3 (d) none of th
@ avh  athee
41, Writethevalueof A= 2% 3a+2b da+3+%
% 6a+30 10046b43%

Oy O (c) ab (d) none of
x40 b ¢
0. Saveforx:| ¢ x4b a [=0 wherexz0
g b x+c
(@xrfatbtc) (b)x=~(atb+c)
(¢) x=-abe (d) none of these
Jexr -6 3
43, Solveforx:| -6 3-x =)
303 -~

®r=0,59 (B)x=09

M Determinants

(d) none of thes

(c)x=0,-9 (d) none of the

Ytk x X
44, Write the valueof 4 =| X irkox
XX Lk
Wa=k (®) 4 B 3x-K)
(¢ 4= K3 +K) (0) none o these
x=1 1 1
45, Soeforx:| 1 x-1 1 ]=0
11 x-1
() x=-1%2 (b)x=-1,2,2
(==, -2, (d) none of these

sind cosp cos(B+ )],
sing cosy oosly +06)

sine cosa cos(a+
46, Write the value of A =

(a) A=sing (b) &= cos p
(c)4=0 (d) none of these
1 b befb+c)
41, Write the valueof A = |1 ca cafc+e)
1 ab alfasd
(a)4=0 (b) A=abe
(c) A= b+ B¢+ ca (d) none of these

Following questions from 48 o 55 are fo be answered s per the oxact
requirement of the question:

123
234

J 45

123
l T
10~

48, Without expanding prove that |

o adel |11
49, Wihout expanding prove that; ¥ b caf w =fa® B* ¢*
G ooa| @S
50, Show that points (b, ¢ + a), (¢, @ + b) and (a, b + ¢} are collinear.
81, JE(x, ), (a, 0,00, b) are collinear, then using determinants peove
thit 24221,
0 b
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b"c2 be b+e
prove that ot @ cval=Q
3 ab a+b

of a line joining A (1, 3) and B (0

53, Fad M COMION 4 1 0) i poie such lhatolt;?

). Units- ‘

the equations 3¢ = & + 2= 4, 2y 43,
x-3 *kzs(}myhamunique solution.

55. Fomhmvalmft,domeeqnations.ix-Sy-2n.g St-dysy
:-2,7}02)‘45"1 have no solution.

Fil nthe blanks i ach o th follwing questions from 56 10 64

56, 1/ the system of inear equations AX = B, B =0 and |A] 20
xo 0,y 0and 2 =0 is called a5 solution.

§7. 1f In the system of lincar equations AX = B, |A| ¥ 0 o
(ad A) B =0 then equation are called as

56, lstsquartmntxofordethB,thcn |34} is

59, 1fA it dnvertible mateix of order 3 x 3, then IA'll fs :

60, If A i mamix of order 3 x 3, then the number of mives|
determinant of A are

61, The sum of the products of elements of any row with the co-fa
of corresponding elements is equal to

62, 1f A and B are matricss of order 3 and |A| =5, [B] =3, then [3¢
is equal to

63, For a squdre matrix A in matrix equation AX = B, if [A] =0%
(adj A) B # O then there exists .

64, 1A 0 square matrix of oeder n, then [adj A s equal 10—

ANSWERS

LY 2@ 3w 4@ S B¢

10 86 96 10.@ 1.0 12"3

BO e B 16 0.0 B .

DO 26 a@ 2p a6 A

Bl B0 w@ b 2.0

.1‘
0.1 3 ) 31.(a)asadj(adif*"|"r '

RO 3 40 o)
0 @ B /O g
B 1@ 4 W 4@ 420 8

5. Wihout expanding

.

e

5 |

4.0c) 45(0) 46.(00 47.(a Shy=Gramdk=12
54, k¢-1 55.k=8 56, Trivial solution 57, Dependent

58.27 |A| 59.171|60.9 61, Zero 62, 405

63. no solution 64, |4l

PREVIOUS YEARS CBSE (XII) [(01L:3A (0]

1. Find the area of triangle whose vestices are (2, 7), {1, 1) and (10,8),
[2007]

sinu cose coa{u +4)
sinp cosfy coa(f+4)
siny cosy cos(y +d)

(20071

2. Without expanding, show that =0,

3, Using the properties of determinants, prove that

X=3 x-4 ¥-t0

x-2 -3 x-fif=0, (wherea,f,y arein AR)  (2007]
r=1 x=-2 Xx-¥
atib c+id
4, Evaluale.“id il [2008]
5. Flnd the co-factor of ay in the following
1 -3 5
6 0 4. (2008/
1 §+7
6, For what value of x, is the following matrix singular?
3-2¢ x+1]
“ml-ﬁnw eou 607 (2008)
8. A matrix A of order 3 x 3 has determinant 4. Find the value of
|A]. (2008, 2012 Compt. type]
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1. IFA i an nvertble matri of order 3 and A| = 5, then fnd [

(2009, 2011

ladj4
12, Find the minor of the element of second row and third col
(a33) In the following determinant

2 -3 5

b 0 4

1 527

13. I Ais a square matrix of order 3 and |34 » k|, then wrire i
value of k. (201

14, WI:’:; positive value of ¥ makes the following pair of determinan
equal? '

23 4
56 8
bx 9x 12¢

a=b b=¢ =g
be=¢ c=a a-bl,
c-0 a=b b~¢

9. Weite the value of determinant

10, Write the value of determinant

(2010, 2012 iyl

P [2010, 2013 type, 2014 typ
§ x'[5 4013 op; 200

15, Aisa square matrix of order 3and || = 7, Wrte the value of a4

LR
16, IM-[2 _J.tbenﬁndlndjﬂl.

17, 1F[A] 2, whete A fs 4 2 x 2 marrix, find |adjA). (2010
cos15* sinl15°

18, Evaluate lsin 75 et 750{.

19, If A:[: 32}, write A" i terms of A,

20. Amatrix A of order 3 x 3 s such that |A| « 4. Find the vale
|24]. (2011 Campt,, 201

A I A -[f ;},ﬁnddrvalucoflildl. (2011 C

Determinonts
0 1 -2
-1 0 3 askew

. (ot of x, Is the matrix A =

[2013]

4 such that |ad) Al ;264, find [A].

”mﬂw" i mﬂmx?
013 Compt.]

93, If A ls a square matrix of order

5 6 -3
-4 3 2, thenwrite the cofoctor of gy of its 2nd row.

4 <] 3

U, IfA=
[2015)
X4y yrs xtt

x )y
-4 -3

[2013]

25, White the value of & =
! -3
[2016]

T '
= » 8, then find the value ofx.
26, Il A s ;’

425
203
-1 10

)

write the value of det(2A
' (2016 Compt,)

27, Given A -[

28, If Ais a square matrix of order 2 and |adjA| =9, find |A|.
(2016 Compt.]

80
{0 SJ then write the

{2017]
, compute A™ and show that 247 = 01 - A
[2018]

29, 17 for any 2 x 2 square matrix, A(adj A) =
value of [A],

30, Glven A 24
<4 7

2 3

M 1A= -
I [S ‘2} be such that 4™ = kA, then find the value of k

(2018 Compt
538
201,
12

(2019 Compt,)

32, Find the co-fator of the clement ay, of the determinans




VATSAL MCQs in Mathematics for Clags

3 2

-1
PUER E ] o v
33.1fA=| o 2 ‘

38

1 (2019
A i ' =9, th
34. ng is a square matrix of order 3, with |A| =9, then write the

of |2+ adj Al- Ly

ANSWERS :

2 3

1. 23.5 sq. units 4.a%+b*+ Z+d® 5.46 6.1 i
7.1 8. 108 9.0 10.0 11.25 12,18,
3,97 la.x4 1549  16.-11 17.2 18.0 6oy

102 3]_1,20.4 216 222 2.4

19|5 -2| 19

24.3 25.0 26. 2 27.8  28.|A| =9 29.s§

12 19} ;

4 1[7 3
30"‘1:’[ ] 31k =L [ il
204 2 k=327 33.| 5 |UH

!
;
}

EE -



Class-XIl
Subject-English

Q1l.You are the students’ Union Advisor of Shri krishan Senior Secondary School,Ujjain.Write an Election-
Notice inviting nominations for the posts of President,Vice-President,Secretaryand Treasurer of Union.

Q2.Prepare a poster on kindness to animals to be displayed in the city at public places appealing to the
public to show kindness to animals.

Q3.You have a degree in architecture and have worked for a British firm for five years .Write an
application for the post of Senior Architect in Atul Constructions 15,Gurugram.you are Mridul/Mridula,a
resident of 56,Cross street,New Delhi.Prepare a Bio-data to be enclosed.

Q4.Should You Be Worried About the Coronavirus ? Is it a cause for caution and not for alarm ? Express
your views.[150-200 words ]

Q5. Read Lesson-‘Journey To The End of the Earth’ by Tishani Doshi in the book-Vistas and write down
all the textual questions & their answers in your fair note-book.
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2_*

qIATSTHT 9919 & {77 rer T8 997 fawg
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[ECIRICIE Il

Pratham

Alina

h&(l — XII
NO. | FIAFTAH | SHAFTAH | SIF HTATH SIRISCIRTE D]

1 FAIT T

Ankita Aman Pundir Bhumika
Longani

2 1
Ashu Pal Ayush Garg Garima Kkapil

3 ghae ag
Mohd. Asjad Shivank Bindal | Nancy Khatanaa

4 ST HIETH
Atul Saini Yashvi Saini Prakarti

5 =T aTs
Harsh Sharma Swati Rana

6 EEIEEKIRATE]
Mohd. Zaid Tanisha Malik

7 Itk g wRET
Nitish Kumar Vansh Bhaskar

8 Zor T S{raw @ gHTd
Rachit Bansal Abhinav Panwar

9 AATHIITHT




10 HIATSA TS %l ST
Tanu Nirala Khushi R
11 HETed A
Vedika Nishant
12 TAFHTIAT o ATH T
Swati Sharma Priyanka Singh
13 AT
Harsh Chy. Rajat
14 fEar wrey &1 sfae™
Shreya Gupta
15 TEar = ATfe e #7 Sfag™
Srishti Vats
16 BRG]
Vivek Sharma
17 qIfeTh qgFae ‘ST

Khushi Pundir

e ;- IRASHET I9T° F [T e HHT 1000952 § | FFafead qedi< ot R g |




CLASS XII
INFORMATION PRATICES

1. Create a student table with the student id, name, and marks as attributes where the student
id is the primary key.

Insert the details of a new student in the above table.

Delete the details of a particular student in the above table.

Use the select command to get the details of the students with marks more than 80.

vk~ W

Create a new table (order ID, customer Name, and order Date) by joining two tables

(order ID, customer ID, and order Date) and (customer ID, customer Name, contact

Name, country).

6. Create a foreign key in one of the two tables mentioned above

7. Find the min, max, sum, and average of the marks in a student marks table.

8. Find the total number of customers from each country in the table (customer ID, customer
Name, country) using group by.

9. Create a new table (name, date of birth) by joining two tables (student id, name) and (student id,

date of birth).

10. Write a SQL query to order the (student ID, marks) table in descending order of the marks.



7.
8.
9.

PHYSICAL EDUCATION CLASS-XII

HOLIDAY WORK

Discuss the objective of planning in sports.

What are the lifestyle disease? How can we prevent them?

What is Hypertension? Discuss the benefits and contradictions of Vajrasana and
Ardhachakrasana.

Explain any three asanas, which are beneficial in preventing as well as curing
asthma.

Explain the causes of any postural deformities in detail.

Write short note on any two of the following indicating the causes and remedial
measures, flatfoot, knee knock and bow leg.

Write short note ADHD, ODD and OCD.

What is a physical disability?

What are the benefits of physical activity for children with special need?

10. What do you mean by congenital deformity?



